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xeBCFeJI aEntpnlzF{ 3AcAr AAPfbrn
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2oZ'l ou;r OV s3Ps;H o/ €fler 2v,.^: h/ 337 ' Mepen cytv:

l-aaap o3oMlur4x opxnft H rgpqnnrooHufi
xyraqaa cyHrax ryxah

MoHron Vncurn 3acar 3axhpraa, Hyrar rqgBcrgpufiH HoDK, ryyHufi y4ilpAnarbrH
ryxail xyynr4fiH 60 4yraap 3yfinufiH 60.1.1, 66 gyraap 3vfinilfiH 66.1, l-aspurH ryxafi
xyynhilH 30 4yraap 3yfinhfiH 30.1, 37 gyraap 3yilnnilH 37.1,37.2,3axnpraanbr epeHxril
xyynnilH 40 4yreep 3yhnnhH 40.2,43 gyraap 3yiz.nnhH 43.1,l-aapurH xapunqaa, reoge3r
3ypar 3VfiH ra3pbrH .qaprbrn 2021 oHbr A/187 ,2023 oHbr A/133 4yraap ryruaaflbrr ryc ryc
yH4ocneH 3AXklPAM)KflAX Hu:

1. l-asap g3gMul4x opxr4ilH ropqilflreoHuft xyraqaa cyHrax xyconr npyynceH 1

uproH, 1 ax axyfiH HeDKr4ilH 0.4025ra (4025v2) ra3pbrH ra3ap o3oMluyyncoH afiMrhftH
3acar AaprbrH xon6orgox 3axnpaMxu.q xaBcpanraA AypgcaHaap xyrallaar cyHrax
o3oMruyyflcyreil.

2. Yr 3axnpaMxaap fa3ap g3oMr.rJr4x 5ahraa npreHreft ra3ap o3oMulr4x epx ayfin
6aranraaxunr xun>K, Yncurn 6yprreng 6yprrexufir afiMrufrH l-aapun xapunqaa,6apunra,
xor 6ailryynaflrbrH ra3pbrH Aapra (5.|-aHsopur), VncurH 6yprrennfiH xsnrcuirn gapra
(8. MenreHeyn)-r ryc ryc 3eBrueepcyreil.

3. 3axrapraaHbr aKTbrr axnbrH 5 xonornftH Aorop opx, auhr coHupxon xeH4er4ex
6yfi erreegofl Mo4or4ex, 6apnurxyyflcaH 3axnpraaHbr aKrbrr xyaufiu xoporr 6ypgyynenr
xr4fix axhnnaxbrr ailurufiH l-aapurH xapilflqaa, 6apnnra, xor 6afiryynanruH ra3ap
(5. l-aHsopnr)-r yyper 6on rocyrafi .

4.3axnpauxnfin xoporxunrog xnHanr raBbx axrfl.naxbrr afiurufin 3acar AaprbtH
TaururH ra3pbrH Xyynu, epx syftH xenroc Aapra (P.Mau6ar)-4 yyper 6onrocyrafi.
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